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	LEARNING OBJECTIVES

1.
Define current tax and the recognition of current tax liabilities and assets under HKAS 12.

2.
Describe the concept of tax base, temporary differences and permanent differences.

3.
Understand the purpose of providing for deferred tax.
4.
Make the provision for deferred tax on the full provision basis.

5.
Explain the requirements of HKAS 12 in respect of accounting for deferred tax.
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1.
Current Tax (本期稅項)
1.1
Normally, current tax is recognized as income or expense and included in the net profit or loss for the period.

1.2
Measurement of current tax liabilities (assets) for the current and prior periods is very simple. They are measured at the amount expected to be paid to (recovered from) the tax authorities. The tax rates (and tax laws) used should be those enacted by the balance sheet date.

1.3
HKAS 12 requires any unpaid tax in respect of the current or prior periods to be recognized as a liability.

1.4
Conversely, any excess tax paid in respect of current or prior periods over what is due should be recognized as an asset.

	1.5
	Example 1

	
	In 2016, ABC Co had taxable profits of $120,000. In previous year income tax on 2015 profits had been estimated as $30,000.

Required:

Calcualte tax payable and the charge for 2016 if the tax due on 2015 profits was subsequently agreed with the tax authorities as:

(a)
$35,000

(b)
$25,000

Any under or over payments are not settled until the following year’s tax payment is due. Tax rate is 30%.
Solution:

(a)

$

Tax due on 2016 profits ($120,000 × 30%)

36,000
Underpayment for 2015
5,000

Tax charge and liability

41,000

(b)

$

Tax due on 2016 profits ($120,000 × 30%)

36,000
Overpayment for 2015
(5,000)

Tax charge and liability

31,000




1.6
Taking this a stage further, HKAS 12 also requires recognition as an asset of the benefit relating to any tax loss that can be carried back to recover current tax of a previous period. This is acceptable because it is probable that the economic benefit will flow to the enterprise and it can be reliably measured.

	1.7
	Example 2

	
	In 2015 ABC Co paid $50,000 in tax on its profits. In 2016 the company made tax losses at $24,000. The local tax authority rules allow losses to be carried back to offset against current tax of prior years. Tax rate is 30%.

Required:

Show the tax charge and tax liability for 2016.

Solution:

Tax repayment due on tax losses = 24,000 × 30% = $7,200.

The journal entry is as follows:

Dr. ($)

Cr. ($)

Tax receivable (statement of financial position)
7,200
Tax repayment (income statement)

7,200



2.
Deferred Tax
2.1
Introduction

2.1.1
Deferred tax is an application of the matching concept. Under the matching concept, the tax consequences of a transaction or other event should be recognised at the same time as the underlying transaction or other event is recognised. Therefore, if those tax consequences are not recognised through the recognition of current tax in the period, i.e. the tax authorities will not acknowledge the transactions until a future period, they need to be recognised in the financial statements by accounting for deferred tax.

2.1.2
Deferred tax is a basis of allocating tax expense to particular accounting periods. The key to deferred tax lies in the differences between the two concepts of profit: the accounting profit and the taxable profit.

2.1.3
The two figures of profit are unlikely to be the same because of permanent differences and temporary differences.

2.2
Definitions

	2.2.1
	Definitions

	
	(a)
Permanent differences (永久性差異) are items included in the accounting profit that will never be taxed or allowed as reductions, for example, dividends, non-business entertainment (disallowable) and traffic fines (disallowable). Permanent differences will not reverse in future periods and thus give rise to no tax effects in other periods.

(b)
Temporary differences (暫時性差異) are differences between the carrying amount of an asset or liability in the statement of financial position and its tax base. Deferred tax assets and liabilities are calculated using the following formula:
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(c)
The tax base (計稅基礎) of an asset or liability is the amount attributed to that asset or liability for tax purposes. The tax base can be nil, the same as the carrying amount of the asset or liability for accounting purposes, or different from the carrying amount.
(d)
Deferred tax liabilities are the amounts of income taxes payable in future periods in respect of taxable temporary differences.

(e)
Deferred tax assets are the amounts of income taxes recoverable in future periods in respect of:

(a)
Deductible temporary differences

(b)
The carry forward of unused tax losses

(c)
The carry forward of unused tax credits (稅款抵減)


	2.2.2
	Two types of temporary differences

	
	(a)
A taxable temporary difference (應稅暫時性差異) will result in an increase in income tax payable in future reporting periods, and gives rise to a deferred tax liability.

(b)
A deductible temporary difference (可抵扣暫時性差異) will result in a decrease in income tax payable in future reporting periods, and gives rise to a deferred tax asset.


2.2.3
Examples of taxable temporary differences

(a)
Transactions affecting the income statement:

(i)
Interest revenue received in arrears, included in the accounting profit on a time apportionment basis but taxable on a cash basis.

(ii)
Depreciation of an asset is accelerated for tax purposes.

(iii)
Development costs have been capitalized and will be amortised to the income statement but were deducted for tax purposes as incurred.

(iv)
Prepaid expenses have already been deducted on a cash basis for tax purposes but are to be charged in the income statement in a later period.

(b)
Transactions affecting the statement of financial position

(i)
Current investments are carried at fair value which exceeds cost but remain at cost for tax purposes.

(ii)
Non-current assets are revalued upwards for accounting purposes with no adjustment for tax purposes.

2.2.4
Examples of deductible temporary differences

(a)
Accumulated depreciation of an asset in the financial statements is greater than the cumulative depreciation allowed up to the reporting period for tax purposes.

(b)
The net realizable value of an item of inventory, or the recoverable amount of an item of property, plant or equipment, is less than the previous carrying amount and an enterprise therefore reduces the carrying amount of the asset, but that reduction is ignored for tax purposes until the asset is sold.

(c)
Research costs (or organization or other start up cost) are recognised as an expense in determining accounting profit but are not permitted as a deduction in determining taxable profit until a later period.

(d)
Income is deferred in the statement of financial position but has already been included in taxable profit in current or prior periods.

2.3
Two basic principles for HKAS 12
	2.3.1
	Two basic principles

	
	(a)
The first principle relates to the issue of whether or not a deferred tax liability/asset exists. This principle states that if it is probable that recovery or settlement of the carrying amount of an asset or liability will make future tax payments larger or smaller than they would be if such recovery or settlement were to have no tax consequences, then a deferred tax liability or asset should be recognized, with certain limited exceptions. Thus:

(i)
if an item is accounted for in year one, but will be taxed (or tax deductible) in year two (or in any subsequent years), then, a deferred tax liability/asset must be accounted for in year one;

(ii)
if an item is accounted for in year one, and will be taxed (or tax deductible) in year one, then, a tax payable or tax receivable should be accounted for in year one; and

(iii)
if an item is accounted for in year one, and will not be taxed (or tax deductible), then, there is no tax effect to be accounted for.

(b)
The second principle relates to the issue of how the effect of deferred tax should be accounted for. This principle states that an entity should account for the effect of the deferred tax liability/asset in the same way that it accounts for the underlying transaction or event. Thus, the deferred tax effect will be:
(i)
recognized as income or expense and included in profit or loss for the period, if the underlying transaction or event is recognized in profit or loss for the period;

(ii)
recognized outside profit or loss (either in other comprehensive income or directly in equity), if the underlying transaction or event is recognized in the same or a different period, outside profit or loss; and
(iii)
recognized as an adjustment to goodwill if the underlying transaction or event arises from a business combination.


2.4
Reasons for recognizing deferred tax
2.4.1
If a deferred tax liability is ignored, profits are inflated and the obligation to pay an increased amount of tax in the future is also ignored. The argument for recognizing deferred tax are summarized below.

(a)
The accruals concept requires tax to be matched to profits as they are earned.

(b)
The deferred tax will eventually become an actual tax liability.

(c)
Ignoring deferred tax overstates profits, which may result in:

(i)
over-optimistic dividend payments based on inflated profits,

(ii)
distortion of earnings per share and of the price/earnings ratio, both important indicators of an entity’s performance,

(iii)
shareholders being misled.

	2.4.2
	Example 3

	
	Profits before taxation of ABC Ltd for each of the years 2015 and 2016 were $320,000. The profits tax rate was 20% in both years. In 2015, plant purchases amounted to $200,000. The rate of depreciation was 25% per annum on cost. For tax purposes an initial allowance of 100% of cost is given in the year of purchase.
Scenario 1: ABC Ltd accounts for current taxes only (i.e. nil provision or flow through method)

Assuming that there are no other differences, taxable profits will be calculated as follows:
2015
2016
$

$

Profit before taxation

320,000

320,000

Add: Depreciation

50,000

50,000

370,000

370,000

Less: Initial allowance

(200,000)

-

Taxable profit

170,000

370,000

Tax on 20%

34,000

74,000

Profit after tax will be arrived as follows:

Profit before taxation

320,000
320,000

Less: Provision for taxation
(34,000)
(74,000)
Profit after taxation

286,000

246,000

It may be noticed that though the company’s profit before tax was exactly the same in the two years, the difference in the profit after tax is significant.

HKAS 12 is based on the idea that the $40,000 ($74,000 – $34,000) reduction in tax in 2015 is only a temporary gain – a liability for it does arise in 2015 but it is deferred until the three later years in which the tax charge is increased.
Scenario 1: ABC Ltd provides for deferred tax

In this example, let us assume that ABC Ltd does not plan to buy any plant in 2017 and 2018 and that the profit before tax and taxation rates are the same in those years.

Giving effect to the requirements of HKAS 12, the profit after tax will be calculated as follows:
2015

2016

$
$
$
$
Profit before taxation

320,000

320,000

Less: Provision for taxation

- Current

34,000

74,000

- Deferred

30,000

(10,000)

(64,000)

(64,000)

Profit after taxation

256,000

256,000

Calculation of deferred tax based on temporary differences:
Tax value

Accounting value

Difference

$

$

$

On purchase

200,000

200,000

-

Year end

2015
0

150,000

150,000

2016
0

100,000

100,000

2017
0

50,000

50,000

2018
0

0

0

At the end of year 2015 the tax value is $150,000 less than the accounting value, and the taxable profit will also be $150,000 less than the accounting profit. As a result the tax payable will be $30,000 ($150,000 × 20%) less.

It may be noticed that although the performance of ABC Ltd was the same in both years, the profit after tax for the two years differs in Case 1 but not in Case 2. As a result of providing for deferred tax, the fluctuations in after-tax profits are evened out and the after-tax profit reflects the performance of the enterprise more realistically.

In 2016 and 2017, there will be reversing temporary differences of $50,000 each year. As a result, the profit after tax in each of those years will be $256,000.

The method of providing for deferred tax is:

(a)
to provide for extra taxation by debiting the profit and loss account in years when the effect of temporary differences is to reduce the tax charge, and

(b)
to release the credit so produced in years when the reverse effect arises.
The entries made in the four years with respect to deferred tax would be:
2015
Dr. ($)

Cr. ($)

Deferred tax expense – Income statement
30,000
Deferred tax – Statement of financial position

30,000
(Being deferred tax provided at 20% of originating temporary difference of $150,000)

2016
Dr. ($)

Cr. ($)

Deferred tax – Statement of financial position
10,000
Deferred tax – Income statement

10,000
(Being release of deferred tax at 20% of reversing temporary difference of $50,000)

2017
Dr. ($)

Cr. ($)

Deferred tax – Statement of financial position
10,000
Deferred tax – Income statement

10,000
(Being release of deferred tax at 20% of reversing temporary difference of $50,000)

2018
Dr. ($)

Cr. ($)

Deferred tax – Statement of financial position
10,000
Deferred tax – Income statement

10,000
(Being release of deferred tax at 20% of reversing temporary difference of $50,000)

It may be noticed that at the end of 2018, the balance on the deferred tax account is reduced to nil.


3.
Recognition of Deferred Tax
3.1
Recognition principle

	3.1.1
	Recognition principle of deferred tax

	
	(a)
a deferred tax liability shall be recognized for all taxable temporary differences;

(b)
a deferred tax asset shall be recognized for all deductible temporary differences to the extent that it is probable that taxable profit will be available against which the deductible temporary difference can be utilized.


3.1.2
HKAS 12 adopts the full provision method of providing for deferred tax.

3.1.3
The following sections discuss how deferred tax liability or asset is recognized (or not recognized on temporary differences arising from each of the following sources:
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3.2
Temporary differences arising from balance sheet items
3.2.1
Most of the taxable temporary differences and deductible temporary differences arise because of the difference between the carrying amount and the tax base of assets and liabilities in the statement of financial position.

(a)
Tax base of assets

3.2.2
HKAS 12 provides that the tax base of an asset is the amount that will be deductible for tax purposes against any taxable economic benefit that will flow to an entity when it recovers the carrying amount of the asset.

	3.2.3
	Example 4 – Non-current assets

	
	A Ltd (with 31 December accounting year-end) bought a machinery at a cost of $300,000 on 1 January 2014.

For accounting purposes, the cost of the machinery is to be depreciated using the straight-line method over five years.

Assume that tax rules allow the cost of the machinery to be claimed over three years commencing 2014 on straight-line method.

In the above case, the carrying amount of the machinery will be as follows:

At 31 December 2014: $240,000

At 31 December 2015: $180,000

At 31 December 2016: $120,000

At 31 December 2017: $60,000

At 31 December 2018: $nil

However, the tax base of the machinery will be as follows:

At 31 December 2014: $200,000

At 31 December 2015: $100,000

At 31 December 2016: $nil

Comparing the carrying amount and the tax base of the machinery will yield the following taxable temporary differences and deferred tax liabilities, assumes that the tax rate is 25%:

Year

Carrying amount

Tax base

Taxable temporary difference

Deferred tax liabilities
2014
240,000

200,000

40,000

10,000

2015
180,000

100,000

80,000

20,000

2016
120,000

0

120,000

30,000

2017
60,000

0

60,000

15,000

2018
0

0

0

0




	3.2.4
	Example 5 – Interest income

	
	B Ltd (with 31 December accounting year-end) recognizes interest income on accrual basis.

On 31 December 2016, B Ltd accrues for an interest income receivable of $100,000.

For tax purposes, the interest is taxable on a cash basis.

In the above case, the tax base of the interest receivable account is $nil. (This is because for tax purposes the interest receivable account does not exist, since the interest is taxed when received.)

Comparing the carrying amount and the tax base of the interest receivable account will yield a taxable temporary difference of $100,000 ($100,000 – nil) as at 31 December 2016.

Assuming a tax rate of 25%, the above temporary difference will give rise to a deferred tax liability of $25,000 ($100,000 × 25%) as at 31 December 2016.


	3.2.5
	Example 6 – Trade receivable

	
	C Ltd has recorded a trade receivable account of $200,000 in its statement of financial position as at 31 December 2016 arising from sales for the year.

For tax purposes, the sales has been included in the computation of taxable profit for the year.

In this case, the tax base of the trade receivable account is $200,000.

Since the carrying amount of the trade receivable account equals its tax base, there is nil temporary differences. Accordingly, there will be no deferred tax liability/asset as at 31 December 2016.


	3.2.6
	Example 7 – Loan receivable

	
	D Ltd as a loan receivable account of $500,000 in its statement of financial position as at 31 December 2016.

Under the tax rules, the granting and subsequent repayment of the loan has no tax consequences.

In this case, since the loan is not taxable, the tax base of the loan receivable amount is deemed to be equal to its carrying amount of $500,000.

There is thus no temporary difference, and consequently, no deferred tax liability/asset.


	3.2.7
	Example 8 – Dividend receivable

	
	E Ltd has a dividend receivable account of $100,000 in its statement of financial position as at 31 December 2016.

Assuming the dividend is paid out of the exempt profit of the investee, the dividend will not be taxable at the hand of E Ltd under the relevant tax rules.

In this case, since the dividend income is not taxable, the tax base of the dividend receivable account is deemed to be equal to its carrying amount of $100,000.

There is thus no temporary difference, and consequently, no deferred tax liability.


(b)
Tax base of liability
3.2.8
HKAS 12 provides that the tax base of a liability is its carrying amount, less any amount that will be deductible for tax purposes in respect of that liability in future periods.

	3.2.9
	Example 9 – Accruals on cash basis

	
	ABC Ltd has an accrued expense payable account of $10,000 in its statement of financial position as at 31 December 2016.

For tax purposes, the related expense will be deductible on cash basis.

In this case, the tax base of the accrued expense payable account is $nil (carrying amount of $10,000 less deductible amount of $10,000).

Comparing the carrying amount and the tax base of the accrued expense payable account will yield a deductible temporary difference of $10,000 ($10,000 – $nil) as at 31 December 2016.

Assuming a tax rate of 25%, the above temporary difference will give rise to a deferred tax asset of $2,500 ($10,000 × 25%) in the statement of financial position as at 31 December 2016.


	3.2.10
	Example 10 – Accruals already deducted for tax purposes

	
	ABC Ltd has an accrued expense payable account of $10,000 in its statement of financial position as at 31 December 2016.

For tax purposes, the related expense has already been deducted.

In this case, the tax base of the accrued expense payable account is $10,000 (carrying amount of $10,000 less deductible amount of $nil).

Since the carrying amount of the accrued expense payable account equals its tax base, there is nil temporary difference. Accordingly, there will be no deferred tax liability/asset as at 31 December 2016.


3.2.11
In the case of revenue in advance, the tax base of the resulting liability is its carrying amount, less any amount of the revenue that will not be taxable in future periods.

	3.2.12
	Example 11 – Revenue in advance

	
	GHI Ltd has a rent received in advance account of $10,000 in its statement of financial position as at 31 December 2016.

For tax purposes, the rental income was taxed on cash basis.

In this case, the tax base of the rent received in advance account is $nil (carrying amount of $10,000 less amount not taxable in the future of $10,000).

Comparing the carrying amount and the tax base of the rent received in advance account will yield a deductible temporary difference of $10,000 ($10,000 – $nil) as at 31 December 2016.

Assuming a tax rate of 25%, the above temporary difference will give rise to a deferred tax asset of $2,500 ($10,000 × 25%) in the statement of financial position as at 31 December 2016.


3.2.13
For a liability which embodies revenue/expense which are not taxable/deductible, the tax base of the liability shall be deemed to be equal to its carrying amount.
	3.2.14
	Example 12 – Accrual for penalty

	
	MNO Ltd has accrued for a penalty imposed by the government of $10,000 in its statement of financial position as at 31 December 2016.

For tax purposes, the penalty is not deductible (permanent difference). In this case, since the penalty is not deductible, the tax base of the penalty payable account is deemed to be equal to its carrying amount of $10,000.

There is thus no temporary difference, and consequently, no deferred tax liability/asset.


	3.2.15
	Example 13 – Repayment of loan

	
	PQR Ltd has a loan payable account of $10,000 in its statement of financial position as at 31 December 2016.

For tax purposes, the raising repayment of the loan have no tax consequences.
In this case, since the loan has no tax consequences, the tax base of the loan payable account is deemed to be equal to its carrying amount of $10,000.
There is thus no temporary difference, and consequently, no deferred tax liability/asset.


(c)
Tax base of other items

3.2.16
It should be notes that an item can have a tax base without appearing as an asset or liability in the statement of financial position.

	3.2.17
	Example 14 – Research expense

	
	AB Ltd has commenced a new research project in the year 2015, and has recognized the research cost of $10,000 incurred during the year as an expense for the year ended 31 December 2016.

For tax purposes, research costs are deductible only in later period when the research project is abandoned or when the new products are sold.

In this case, the tax base of research costs is $10,000, being the amount the tax authority will permit as a deduction in the future periods.

Comparing the carrying amount of $nil and the tax base of $10,000 will yield a deductible temporary difference of $10,000 as at 31 December 2016.

Assuming a tax rate of 25%, the above temporary difference will give rise to a deferred tax asset of $2,500 ($10,000 × 25%) in the statement of financial position as at 31 December 2016.


	3.2.18
	Fundamental principle

	
	HKAS 12 is based that an entity shall:

(a)
recognize a deferred tax liability whenever recovery or settlement of the carrying amount of an asset or a liability would make the future tax payments larger than they would be if such recovery or settlement were to have no tax consequences.

(b)
recognize a deferred tax asset whenever recovery or settlement of the carrying amount of an asset or a liability would make the future tax payments smaller than they would be if such recovery or settlement were to have no tax consequences.


	3.2.19
	Example 15

	
	Assume that XYZ Ltd commenced operation in January 2016. Its statement of financial positions as at 31 December 2016 showed the following relevant items:

(a)
carrying amount of machinery of $40,000,000;

(b)
provision for doubtful debt of $2,000,000; and

(c)
provision for warranty of $1,000,000

For tax purposes:

(a)
the tax written down value of the machinery is $35,000,000;

(b)
the provision for doubtful debt is deemed to be a general provision and is not allowed deduction until it becomes a specific provision; and

(c)
the warranty is deductible only when incurred.

In this case, the temporary differences of XYZ Ltd as at 31 December 2016 may be computed as follows:
Carrying amount

Tax base

Temporary differences

$000

$000

$000

Machinery

40,000

35,000

5,000

Provision for doubtful debt

(2,000)

-

(2,000)

Provision for warranty

(1,000)

-

(1,000)

Net taxable temporary differences

2,000

Assuming a tax rate of 25%, the deferred tax liability for XYZ Ltd as at 31 December 2016 is $500,000 ($2,000,000 × 25%). The journal entry (ignoring tax payable account) to recognize the deferred tax liability will be as follows:

Dr. ($)

Cr. ($)

Tax expense (P&L)

500,000

Deferred tax liability

500,000

During the year 2017, the following were charged to income statement:

(a)
depreciation expenses of $10,000,000;

(b)
provision for doubtful debt of $500,000; and

(c)
provision for warranty of $600,000.

However, for tax purposes, the following items were deductible:

(a)
capital allowances of $13,000,000;

(b)
actual bad debt of $600,000;

(c)
actual warranty expenses of $400,000.

There was no other movement for the relevant accounts and their respective balances as at 31 December 2017 will be as follows:

(a)
carrying amount of machinery of $30,000,000 (tax written down value of $22,000,000);

(b)
provision for doubtful debt of $1,900,000; and

(c)
provision for warranty of $1,200,000.

In this case, the temporary differences of XYZ Ltd as at 31 December 2017 may be computed as follows:
Carrying amount

Tax base

Temporary differences

$000

$000

$000

Machinery

30,000

22,000

8,000

Provision for doubtful debt

(1,900)

-

(1,900)

Provision for warranty

(1,200)

-

(1,200)

Net taxable temporary differences

4,900

Assuming a tax rate of 25%, the deferred tax liability for XYZ Ltd as at 31 December 2017 is $1,225,000 ($4,900,000 × 25%).

Given that the deferred tax liability as at 31 December 2016 was $500,000, it shall be increased (credited) by $725,000 to arrive at the balance of $1,225,000 to be shown in the balance sheet as at 31 December 2017. The journal entry (ignore tax payable account) will be as follows:
Dr. ($)

Cr. ($)

Tax expense (P&L)

725,000

Deferred tax liability

725,000




3.3
Temporary difference arising from revaluation of assets
3.3.1
Under the Hong Kong tax rules, revaluation of an item of property, plant and equipment under HKAS 16 does not affect the tax base of the asset and the revaluation surplus is not taxable in the period of revaluation. However, assuming the future recovery of the carrying amount with result in an inflow of taxable economic benefits to the entity and the amount that will be deductible for tax purpose will differ from the amount of those economic benefits, the difference between the carrying amount of a revalued asset and in tax base is a temporary difference.

	3.3.2
	Example 16 – Revaluation of assets

	
	AB Ltd acquires a piece of land as an investment property in 2014 at a cost of $10,000,000. On 31 December 2015, the land is revalued to $12,000,000. Assume that when the investment property is sold, the profit thereof will attract tax at a rate of 25%.

In this case, when the land is revalued, it gives rise to a temporary difference of $2,000,000, being the difference between the carrying amount of $12,000,000 and the tax base of $10,000,000. (Alternatively, under the first principle, when the land is revalued and subsequently recovered at $12,000,000, it will give rise to a taxable profit of $2,000,000 and an additional tax to be paid, and therefore a deferred tax liability should be recognized at the date of revaluation.) Thus, a deferred tax liability of $500,000 ($2,000,000 × 25%) should be recognized.

Applying the second principle, since the revaluation surplus is recorded directly in revaluation reserve, the deferred tax liability should similarly be taken directly to revaluation reserve.

Consequently, the revaluation in 2015 will be recorded as follows:

Dr. ($)

Cr. ($)

Land

2,000,000

Revaluation reserve

2,000,000

Revaluation reserve

500,000

Deferred tax liability

500,000

Subsequently, how the deferred tax liability is accounted for depends on whether or not the gain on sale of land is taxable.

Scenario I

Assume that the land is sold in 2016 for $13,000,000, and the profit thereof attracts tax at the rate of 25%.

In this case, the taxable profit will be $3,000,000 ($13,000,000 – $10,000,000), and the tax payable will be $750,000 ($3,000,000 × 25%). However, the accounting profit will only be $1,000,000 ($13,000,000 – $12,000,000), and the tax expense thereof shall be $250,000 ($1,000,000 × 25%).

The journal entries to record the sale of land and the tax effect thereof will be as follows:

Dr. ($)

Cr. ($)

Cash

13,000,000

Land

12,000,000

I/S – Gain on sale of land

1,000,000

(To record gain on sale of land)

Dr. ($)

Cr. ($)

Revaluation reserve

1,500,000

Retained profit

1,500,000

(To record realization of revaluation surplus)

Dr. ($)

Cr. ($)

Tax expense

250,000

Deferred tax liability

500,000

Tax payable

750,000

(To record tax effect on gain on sale of land)

Scenario II

Assume that the land is sold in 2016 for $13,000,000, and the profit thereof is not taxable. The deferred tax liability previously provided for should be reversed.

In this case, the journal entries related to the sale of land and the tax effect thereof will be as follows:

Dr. ($)

Cr. ($)

Cash

13,000,000

Land

12,000,000

I/S – Gain on sale of land

1,000,000

(To record gain on sale of land)

Dr. ($)

Cr. ($)

Deferred tax liability

500,000

Revaluation reserve

500,000

(To record the reversal of the deferred tax liability previously provided for.)

Dr. ($)

Cr. ($)

Revaluation reserve

2,000,000

Retained profit

2,000,000

(To record realization of revaluation surplus.)




3.4
Temporary difference arising from fair value adjustments
3.4.1
As provided for in HKFRS 3, in a business combination, the cost of the business combination is allocated to the identifiable assets acquired and liabilities assumed by reference to their fair value at the acquisition date (commonly referred to as fair value adjustments).

3.4.2
Temporary differences arise when the tax bases of the identifiable assets acquired and liabilities assumed are not affected by the business combination or are affected differently.

3.4.3
Applying the first principle, HKAS 12 requires the tax effect of such temporary differences to be accounted for as deferred tax liability or deferred tax asset.

3.4.4
Applying the second principle, since fair value adjustments affect the calculation of goodwill arising from the business combination, the deferred tax effect of fair value adjustments will similarly affect the goodwill account.

	3.4.5
	Example 17 – Fair value adjustments

	
	A Ltd acquires the business of B Ltd in 2016 for a cash consideration of $1,500,000.

B Ltd’s statement of financial position at the date of above acquisition comprises share capital and reserve of $1,200,000; trade receivable of $500,000 and inventories of $700,000. It was mutually agreed that B Ltd’s inventories have a market value of $900,000. Assume the tax rules requires the inventories to be valued at $700,000.

In this case, there is a temporary difference of $200,000 due to fair value adjustment for the inventories. Assuming a tax rate of 25%, a deferred tax liability of $50,000 will have to be accounted for, and the goodwill account will correspondingly be adjusted. Consequently, the acquisition transaction will be recorded as follows:

Dr. ($)

Cr. ($)

Goodwill

150,000

Inventories

900,000

Trade receivable

500,000

Deferred tax liability

50,000

Cash

1,500,000

(As required by HKAS 12, the tax effect of fair value adjustments affects the computation of goodwill. Note that without accounting for the tax effect of fair value adjustments, the goodwill would have been just $100,000 (purchase consideration of $1,500,000 less fair value of identifiable net assets acquired of $1,400,000)).


3.5
Temporary difference arising on goodwill

3.5.1
Under the Hong Kong tax rules, a reduction in the carrying amount of goodwill is not allowed as a deductible expense, and the cost of goodwill is also not allowed as a deductible item when a subsidiary disposes of its underlying business. Thus, goodwill has a tax base of $nil, and the difference between the carrying amount of goodwill and its tax base of $nil is a taxable temporary difference.

3.5.2
However, HKAS 12 does not permit the recognition of the resulting deferred tax liability. This is because it is argued that goodwill is a residual and the recognition of the deferred tax liability would increase the carrying amount of goodwill.
3.5.3
It may also be noted that in applying the first principle, since goodwill will not affect the future tax bills of an entity, deferred tax liability should not be accounted for.

3.6
Temporary difference on initial recognition of an asset or a liability

3.6.1
A temporary difference may arise on initial recognition of an asset or a liability in a transaction that is not a business combination, for example if part or all of the cost of an asset/liability will not be deductible/taxable for tax purposes.

3.6.2
These transactions may affect either accounting profit or taxable profit. For example, interest, royalty or dividend revenue receivable is included in accounting profit on a time apportionment basis but is included in taxable profit (tax loss) on a cash basis. Costs of intangible assets are capitalized and amortised but are deductible for tax purposes when they are incurred.

3.6.3
If the transaction affects either accounting profit or taxable profit, an entity recognizes any deferred tax liability or asset and recognizes the resulting deferred tax expense or income.

3.6.4
In some cases, initial recognition of these asset or liability may affect neither accounting profit nor taxable profit. For example, prepayments of expenses recognized may be deductible in determining the taxable profit (tax loss) of future periods only when the prepayments are recognized as an expense in future periods. Some items of property, plant or equipment may not qualify for tax depreciation and no deduction will be available for tax purposes when the assets are sold or scrapped. On initial recognition of these assets, temporary differences arise. However, neither accounting profit nor taxable profit is affected. For such temporary differences, HKAS 12 does not permit an entity to recognize the resulting deferred tax liability or asset, either on initial recognition or subsequently.

	3.6.5
	Example 18

	
	A Ltd bought a building at a cost of $10,000,000 on 1 January 2015. The building is to be depreciated over its useful life of 25 years, using the straight-line method.

For tax purposes, the building does not qualify as an “industrial building”, and consequently, no capital allowances may be claimed on the building, and on disposal, any capital gain/loss will have no tax consequences.

In this case, even though there is a temporary difference of $9,600,000 (carrying amount of $9,600,000 and tax base of $nil) on 31 December 2015, no deferred tax liability is recognized.

Similarly, on 31 December 2016, no deferred tax liability is recognized for the temporary difference of $9,200,000 on the building, because it results from initial recognition of an asset.

The same applies to all subsequent periods.


	3.6.6
	Example 19

	
	B Ltd bought a piece of machinery for $10,000,000. It received a non-taxable government grant of $4,000,000 related to the machinery.

Scenario A

For accounting purposes, the government grant of $4,000,000 is offset against the cost of the machinery to arrive at the carrying amount of the machinery. However, the government grant is not deductible for purposes of computing the capital allowances relating to the machinery.

In this case, the tax base of the machinery is $10,000,000, while its carrying amount is only $6,000,000, thereby giving rise to a deductible temporary difference of $4,000,000.

However, in accordance with the requirement of HKAS 12, no deferred tax asset is recognized.

Scenario B

For accounting purposes, the government grant of $4,000,000 is recorded as a deferred income. However, for tax purposes, the government grant is not taxable.

In this case, the tax base of deferred income is $nil, while its carrying amount is $4,000,000, thereby giving rise to a deductible temporary difference of $4,000,000.

However, in accordance with the requirement of HKAS 12, no deferred tax asset is recognized.


3.7
Temporary difference arising on investments in subsidiaries, associates, branches, and interest in joint ventures

3.7.1
When such investments are held, temporary differences arise because the carrying amount of the investment (i.e. the parent’s share of the net assets including goodwill) becomes different from the tax base (often the cost) of the investment. Why do these differences arise? These are some examples:

(a)
There are undistributable profits held by subsidiaries, branches, associates and joint ventures;

(b)
There are changes in foreign exchange rates when a parent and its subsidiary are based in different countries; and

(c)
There is a reduction in the carrying amount of an investment in an associate to its recoverable amount.

3.7.2
HKAS 12 provides that an entity shall recognize a deferred tax liability for all taxable temporary differences arising from the investment or interest, except to the extent that:

(a)
the parent, investor or venturer is able to control the timing of the reversal of the temporary difference; and

(b)
it is probable that the temporary difference will not reverse in the foreseeable future.

3.7.3
HKAS 12 also provides that an entity shall recognize a deferred tax asset for all deductible temporary differences arising from the investment or interest, to the extent that:

(a)
it is probable that the temporary difference will reverse in the foreseeable future; and

(b)
taxable profit will be available against which the temporary difference can be utilized.

3.7.4
Under the above provisions, an entity would generally not have to recognize the deferred tax liability on the temporary differences arising from undistributed profit retained in a subsidiary (the dividend policy of which is under the control of the entity) if the entity has determined that those profits will not be distributed in the foreseeable future.

3.7.5
On the other hand, since an entity does not have control over the dividend policy of an associate, the entity would have to recognize the deferred tax liability on the temporary differences arising from undistributed profits retained in an associate.

3.7.6
However, under the HK tax rules, there is no tax payable on dividend received. Therefore, applying the first principle, deferred tax liability need not be accounted for in relation to the temporary differences arising from undistributed profits retained in subsidiaries and associates, in the HK context.

4.
Loss Carried Forward

4.1
The Inland Revenue Ordinance (IRO) provides that losses incurred in one period may be carried forward to subsequent periods (sec 19C(4)).

4.2
However, sec 61B provides that the losses may be disregarded unless the Commissioner of Inland Revenue is satisfied that the shareholders have remained substantially the same over the years.

4.3
It should be noted that there is no limit to the time period for which the losses can be carried forward.

	4.4
	Example 20

	
	A Ltd suffered a loss of $100,000 in 2015, and made a profit of $300,000 in 2016 (assuming no temporary differences and therefore the accounting profit or loss is equal to tax profit or loss)

For 2015, A Ltd would have no tax payable because there was no taxable profit.

For 2016, A Ltd would have a taxable profit of $200,000, after offsetting the tax loss of $100,000 carried forward from 2015 against the profit of $300,000 in 2016. Assuming a tax rate of 25%, A Ltd would have a tax payable of $50,000.

It may be noted that, without the loss in 2015, A Ltd would have a tax payable of $75,000 ($300,000 × 25%) instead of $50,000 in 2016. The tax loss of $100,000 in 2015 gives rise to a tax saving of $25,000 in 2016.

It may be appreciated, however, that if A Ltd does not make any profit in all the years subsequent to 2015 before it is wound up, then the benefit relating to the tax loss of $100,000 in 2015 will never be realized.

Thus, there is a benefit relating to the tax loss but the realization of the benefit is contingent upon sufficient income being made in subsequent periods.


4.5
HKAS 12 provides that a deferred tax asset shall be recognized for loss carried forward to the extent that it is probable that future taxable profit will be available against which the loss carried forward can be utilized.

4.6
To the extent that it is not probable that future taxable profit will be available against which the loss carried forward can be utilized, the deferred tax asset is not recognized.

4.7
The following is an illustration for a case where deferred tax asset is recognized for loss carried forward to the extent that it is probable that future taxable profit will be available against the loss carried forward can be utilized.

	4.8
	Example 21

	
	A Ltd commenced operation in 2010 and has been operating profitably. It suffered loss of $100,000 in 2015 due to labour disputes. Assume there were no temporary differences such that the accounting loss is equal to tax loss, and a tax rate of 25%. The labour dispute has been settled towards the end of 2015, and the company expected to operate profitably again in year 2016 and beyond.

In this case, it may be argued it is probable that future taxable profit will be available against which the loss forward can be utilized. A deferred tax asset in relation to the loss and the related tax benefit is recognized in 2015.
Dr. ($)

Cr. ($)

Deferred tax asset

25,000

Tax credit

25,000

(To record tax saving to the loss for the year.)

Assume that A Ltd made a profit of $300,000 for the year ended 31 December 2016 (Assume further there were no temporary differences such that the accounting loss is equal to tax loss, and a tax rate of 25%).

The journal entries for 2016 will be as follows:

Dr. ($)

Cr. ($)

Tax expense

75,000

Tax payable

75,000

(To record tax payable on $300,000 of profit)

Dr. ($)

Cr. ($)

Tax payable

25,000

Deferred tax asset

25,000

(To record utilization of loss carry-forward)

The above entries could, in fact, be combined as follows:

Dr. ($)

Cr. ($)

Tax expense

75,000

Deferred tax asset

25,000

Tax payable

50,000

The relevant accounts will be shown in the 2015 and 2016 financial statements of A Ltd as follows:
Income statements

2015
2016
$000

$000

Profit/(loss) before tax

(100)

300

Tax (expense)/credit
25
(75)
Profit/(loss) after tax

(75)

255

Statement of financial position

2015
2016
$000

$000

Asset

Deferred tax asset

25

Liability

Tax payable

50

(Note that, in financial accounting, the term “tax credit” is simply the opposite of “tax expense”; it does not carry the same meaning as the term “tax credit” under the IRO.)


4.9
The following example is an illustration for a case where it is not probable that future taxable profit will be available against which the loss carried forward can be utilized, and consequently, the deferred tax asset is not recognized.

	4.10
	Example 22

	
	B Ltd commenced operation in January 2015, and suffered a loss of $100,000 for the year ended 31 December 2015.

No deferred tax asset (and related tax benefit) is recognized in 2015. The tax saving relating to the $100,000 loss in 2015 is accounted for only in the years in which it is realized.

Assume that B Ltd made a profit of $300,000 for the year ended 31 December 2016. In this case, the tax saving relating to the $100,000 loss in 2015 will be recognized in 2016.

The journal entries for the two years will be as follows:

2015
No entry is required.

2016
Dr. ($)

Cr. ($)

Tax expense

75,000

Tax payable

75,000

(To record tax on taxable profit of $300,000)

Dr. ($)

Cr. ($)

Tax receivable

25,000

Tax credit

25,000

(To record tax saving on loss of $100,000 carried forward)

The above entries could, in fact, be combined as follows:

Dr. ($)

Cr. ($)

Tax expense

50,000

Tax payable

50,000

(To record tax payable for the year)

The relevant accounts will be shown in the 2015 and 2016 financial statements of B Ltd as follows:

Income statements

2015
2016
$000

$000
Profit/(loss) before tax

(100)

300

Tax expense
-
(50)
Profit/(loss) after tax

(100)
250
Statements of financial position
2015
2016
Liability
$000

$000
Tax payable
-
50



4.11
Generally, where an entity has been operating profitably in the past years and the current year loss is “one-off”, it may be argued that it is probable that future taxable profit will be available against which the loss carried forward can be utilized, and therefore deferred tax asset in relation to the tax loss is recognized in the year of loss, as shown in Example 21 above.

4.12
On the other hand, in cases where an entity has a history of recent losses, it will be difficult to argue that it is probable that future taxable profit will be available against which the loss carry-forward can be utilized, and therefore the tax benefit in relation to the tax loss is recognized only in the year in which the benefit realized, as shown in Example 22 above.

4.13
However, if the entity has taxable temporary differences in the year of loss, HKAS 12 provides that entity should recognize a deferred tax asset arising from the loss carried forward to the extent of the temporary differences. The rationale for the requirement is that the taxable temporary differences will, upon reversal, result in taxable amount against which the loss carried forward can be utilized.
	4.14
	Example 23

	
	C Ltd commenced operation in 2011, and has been incurred losses. The cumulative loss as at 31 December 2015 is $100,000. In 2015, the company bought a computer, and as at 31 December 2015, there is a taxable temporary difference of $120,000 in relation to the computer. The relevant tax rate is 25%.

In this case, the company will have to first recognize a deferred tax liability in relation to the taxable temporary difference, as follows:
Dr. ($)

Cr. ($)

Tax expense

30,000

Deferred tax liability

30,000

The company shall also recognize a deferred tax asset in relation to the loss carried forward, given that there is sufficient taxable temporary difference against which the loss can be utilized, as follows:

Dr. ($)

Cr. ($)

Deferred tax asset

25,000

Tax credit

25,000

The above journal entries could be combined as follows.

Dr. ($)

Cr. ($)

Tax expense

5,000

Deferred tax liability

5,000

It may be noted that, in this case, where the amount of temporary difference is larger than that of tax loss, all the tax benefit of the tax loss is recognized in the year of loss.


5.
Measurement
5.1
HKAS 12 provides that current tax liabilities (assets) for the current and prior periods shall be measured at the amount expected to be paid to that have been enacted or substantially enacted by the end of reporting period.

5.2
HKAS 12 also provides that deferred tax liabilities (assets) shall be measured at the tax rates that are expected to apply to the period when the liability is settled or the asset is realized, based on the tax rates (and tax laws) that have been enacted or substantially enacted by the end of the reporting period.

	5.3
	Example 24

	
	In November 2016, the government announced that the tax rate which has been 28%, will be lowered to 25% effective from 1 January 2017.

A Ltd has to a taxable profit of $100,000 for the year ended 31 December 2016. Its taxable temporary differences have increased from $50,000 as at 31 December 2015 to $60,000 as at 31 December 2016.

In this case, the current tax payable will be $28,000, measured based on 28%. The deferred tax liability as at 31 December 2016 will be $15,000, measured based on 25%. (The deferred tax liability as at 31 December 2015 was $14,000 ($50,000 × 28%)).

The journal entry to record the tax expense will be as follows:

Dr. ($)

Cr. ($)

Tax expense

29,000

Deferred tax liability

1,000

Tax payable

28,000

The tax expense charged to the income statement for the year ended 31 December 2016 will therefore be $29,000.

In the statement of financial position as at 31 December 2016, the current tax payable will be carried at $28,000, and the deferred tax liability will be carried at $15,000.


5.4
Where different tax rates apply to different levels of taxable income, HKAS 12 provides that the deferred tax assets and liabilities shall be measured using the average rates that are expected to apply to the taxable profit (tax loss) of the periods in which the temporary differences are expected to reverse.

5.5
In some countries, the way in which an entity recovers or settles the carrying amount of an asset or liability may affect the following.

(a)
the tax rate applying when the entity recovers/settles the carrying amount of the asset/liability;

(b)
the tax base of the asset/liability.

In such cases, the entity must consider the expected manner of recovery or settlement. Deferred tax liabilities and assets must be measured accordingly, using an appropriate tax rate and tax base.
	5.6
	Example 25

	
	Richard Co has an asset with a carrying amount of $10,000 and a tax base of $6,000. If the asset were sold, a tax rate of 20% would apply. A tax rate of 30% would apply to other income.

Required:

State the deferred tax consequences if the entity:

(a)
sells the asset without further use.

(b)
expects to return the asset and recover its carrying amount through use.

Solution:

(a)
A deferred tax liability is recognized of $(10,000 – 6,000) × 20% = $800.

(b)
A deferred tax liability is recognized of $(10,000 – 6,000) × 30% = $1,200.


5.7
For deferred tax asset, HKAS 12 provides that its carrying amount shall be reviewed at end of the reporting period, and adjusted for changes in the expected amount of taxable profit that will allow the benefit of the deferred tax asset to be utilized.
5.8
HKAS 12 further provides that deferred tax assets and liabilities shall not be discounted. Therefore, time value of money shall not be taken into account in the measurement of deferred tax liability/asset.

6.
Share-based Payment Transactions and Deferred Tax

6.1
An entity is required to recognize an expense in relation to share options over the vesting period. The related tax deduction is not, however, received until the options are exercised.

6.2
In addition the accounting expense is based on the fair value of the options at the grant date, whereas the tax allowable expense is based on the share price at the exercise date.

6.3
There is therefore a deferred tax implication. This is also true of other forms of share-based payments where the tax deduction differs from the cumulative remuneration expense.

6.4
The deductible temporary difference is measured as:

	
	$

	Carrying amount of share-based payment expense
	X

	Less: Tax base of share-based payment expense (estimated amount tax authorities will permit as a deduction in future periods, based on year end information
	(X)

	Temporary difference
	X

	
	

	Deferred tax asset at X%
	X


6.5
If the amount of the tax deduction (or estimated future tax deduction) exceeds the amount of the related cumulative remuneration expense, this indicates that the tax deduction relates not only to remuneration expense but also to an equity item. In this situation, the excess of the associated current or deferred tax shall be recognized in other comprehensive income.
	6.6
	Example 26

	
	Lamar Co has the following share option scheme at 31 December 2011:

Director’s Name

Grant date

Options granted

Fair value of options at grant date

Exercise price
Vesting date

$

$

N Yip

1 Jan 2010

20,000

2.50

3.75

Dec 2011

D Chan

1 Jan 2011

90,000

2.50

4.50
Dec 2013

The price of the company’s shares at 31 December 2011 is $7 per share and at 31 December 2010 was $7.50 per share.
The directors must be working for Lamar on the vesting date in order for the options to vest.

No directors have left the company since the issue of the share options and none are expected to leave before December 2013. The shares can be exercised on the first day of the month in which they vest.
In accordance with HKFRS 2 an expense of $25,000 [$2.5 × 20,000 / 2 years] has been charged to profits in the year ended 31 December 2010 in respect of the share option scheme. The cumulative expense for the two years ended 31 December 2011 is $125,000 [$2.5 × 20,000 + $2.5 × 90,000 / 3 years].
Tax allowances arise when the options are exercised and the tax allowance is based on the option’s intrinsic value at the exercise date.
Assume a notional tax rate of 16 per cent.

Required:

What are the deferred tax implications of the share option scheme?
Solution:

Year to 31 December 2010

$
Fair value (20,000 × $7.50 × 1/2)
75,000
Exercise price of option (20,000 × $3.75 × 1/2)

(37,500)
Intrinsic value (estimated tax deduction)

37,500
Deferred tax asset at 16%

6,000

The cumulative remuneration expense is $25,000, which is less than the estimated tax deduction of $37,500. Therefore:

· A deferred tax asset of $6,000 is recognised in the statement of financial position

· There is deferred tax income of $4,000 (25,000 × 16%)

· The excess of $2,000 goes to equity
Year to 31 December 2011

$

Fair value (20,000 × $7.50)

150,000

(90,000 × $7 × 1/3)

210,000

360,000

Exercise price of options

(20,000 × $3.75)

(75,000)

(90,000 × $4.50 × 1/3)

(135,000)

Intrinsic value (estimated tax deduction)

150,000
Deferred tax asset at 16%

24,000

Less: Previously recognized
(6,000)

18,000

The cumulative remuneration expense is $125,000, which is less than the estimated tax deduction of $150,000. Therefore:

· A deferred tax asset of $24,000 is recognised in the statement of financial position at 31 December 2011.
· There is potential deferred tax income of $18,000 for the year ended 31 December 2011.
· Of this, $16,000 [16% × ($125,000 – $25,000)] is recognised in the income statement.
· The remainder ($2,000) is recognised in equity.


7.
Amendments to HKAS 12 “Deferred Tax: Recovery of Underlying Assets”
7.1
The amendments is applicable for annual periods beginning on or after 1 January 2012.

7.2
The amendments provide a practical approach for measuring deferred tax liabilities and deferred tax assets when investment property is measured using the fair value model in HKAS 40 “Investment Property”.

7.3
Under HKAS 12, the measurement of deferred tax liabilities and deferred tax assets depends on whether an entity expects to recover an asset:

(a)
by using it; or 

(b)
by selling it.

7.4
However, it is often difficult and subjective to determine the expected manner of recovery when the investment property is measured using the fair value model in HKAS 40.

7.5
The amendments introduce a presumption that an investment property is recovered entirely through sale. This presumption is rebutted if the investment property is held within a business model whose objective is to consume substantially all of the economic benefits embodied in the investment property over time, rather than through sale.

	7.6
	Example 27

	
	An investment property has a cost of $10 million and fair value of $15 million. It is measured using the fair value model in HKAS 40. It comprises land with a cost of $4 million and fair value of $6 million, and a building with a cost of $6 million and fair value of $9 million. The land has an unlimited useful life.

Cumulative depreciation of the building for tax purposes is $3 million. Unrealised changes in fair value of the investment property do not affect taxable profit. If the investment property is sold for more than cost, the reversal of the cumulative tax depreciation of $3 million will be included in the taxable profit and taxed at an ordinary tax rate of 30%. For sale proceeds in excess of cost, tax law specifies rates of 25% for assets held for less than two years and 20% for assets held for two years or more.
In this case, because the investment property is measured using the fair value model in HKAS 40, there is a rebuttable presumption that the entity will recover the carrying amount of the investment property entirely through sale. If that presumption is not rebutted, the deferred tax reflects the tax consequences of recovering the carrying amount entirely through sale, even if the entity expects to earn rental income from the property before sale.

The tax base of the land if it is sold is $4 million and there is a taxable temporary difference of $2 million ($6m – $4m). The tax base of the building if it is sold is $3 million ($6m – $3m) and there is a taxable temporary difference of $6 million ($9m – $3m). As a result, the total taxable temporary difference relating to the investment property is $8 million ($2m + $6m).
The tax rate is the rate expected to apply to the period when the investment property is realized. Thus, the resulting deferred tax liability is computed as follows, if the entity expects to sell the property after holding it for more than two years:

Taxable temporary difference

Tax rate

Deferred tax liability

$m

$m

Cumulative tax depreciation

3

30%

0.9

Proceeds in excess of cost

5
20%

1.0

Total

8

1.9

If the entity expects to sell the property after holding it for less than 2 years, the above computation would be amended to apply a tax rate of 25%, rather than 20%, to the proceeds in excess of cost.

If, instead, the entity holds the building rather than through sale, this presumption would be rebuttable for the building. However, the land is not depreciable. Therefore, the presumption of recovery through sale would not be rebutted for the land. It follows that the deferred tax liability would reflect the tax consequences of recovering the carrying amount of the building through use and the carrying amount of the land through sale.
The tax base of the building if it is used is $3 million ($6m – $3m) and there is a taxable temporary difference of $6 million ($9m – $3m), resulting in a deferred tax liability of $1.8 million ($6m × 30%).
The tax base of the land if it is used is $4 million and there is a taxable temporary difference of $2 million ($6m – $4m), resulting in a deferred tax liability of $0.4 million ($2m × 30%).
As a result, if the presumption of recovery through sale is rebutted for the building, the deferred tax liability relating to the investment property is $2.2 million ($1.8m + $0.4m).


Examination Style Questions

Question 1

Nette purchased a building on 1 June 2013 for $10 million. The building qualified for a grant of $2 million which has been treated as a deferred credit in the financial statements. The tax allowances are reduced by the amount of the grant. There are additional temporary differences of $40 million in respect of deferred tax liabilities at the year end. Also the company has sold extraction equipment which carries a five year warranty. The directors have made a provision for the warranty of $4 million at 31 May 2014 which is deductible for tax when costs are incurred under the warranty. In addition to the warranty provision the company has unused tax losses of $70 million. The directors of the company are unsure as to whether a provision for deferred taxation is required.
(Assume that the depreciation of the building is straight line over ten years, and tax allowances of 25% on the reducing balance basis can be claimed on the building. Tax is payable at 30%.)
Required:

Explain with reasons and suitable extracts/computations the accounting treatment of the above situation in the financial statements for the year ended 31 May 2014.
(14 marks)


(Adapted ACCA 3.6 Advanced Corporate Reporting June 2004 Q3)
Question 2 (16 marks – approximately 29 minutes)
Healthy Supplement Inc. (HSI) was incorporated on 1 October 2011 and is engaged in the design and manufacture of nutrition products. Below is the computation of income tax for the first financial year ended 30 September 2012:
	
	HK$000

	Profit before tax
	54,018

	Adjusted for:
	

	Non-taxable interest income
	(1,039)

	Release of government grant to P/L
	(1,200)

	Depreciation charged to P/L
	15,933

	Non-deductible legal and professional fees
	1,358

	Provision for product warranty charged to P/L
	4,200

	Depreciation allowance
	(38,500)

	Government grant received
	9,600

	Warranty expenses paid
	(1,248)

	Assessable profit
	43,122

	
	

	Income tax prepaid on 30 June 2012
	4,600


During the year, HSI acquired plant and equipment of HK$94,334,000 which are depreciated on a straight line basis over useful lives of 3 to 10 years, all of them were still in use by the entity. Included in this amount is HK$4,388,000 related to certain expenditure which is not tax deductible under the tax law. The non-tax deductible items were acquired on 1 April 2012 and depreciated for half year out of an estimated useful life of 5 years up to the end of the reporting period.
An asset-related government grant is taxable upon receipt while HSI adopted HKAS 20 to recognise the grant to profit or loss over the expected useful lives of the related assets.
Warranty expenses are tax deductible upon actual payment incurred.
The standard income tax rate for HSI is 20%. A 2% tax rate deduction is provided for an entity's first year of operation.
Required:

(a)
Calculate the current tax expenses for the year ended and the current tax payable as at 30 September 2012.
(2 marks)

(b)
Calculate the deferred tax assets/liabilities as at 30 September 2012 and the deferred tax credit/charge for the year then ended.
(8 marks)

(c)
Prepare the tax reconciliation for disclosure in the financial statements of HSI for the year ended 30 September 2012.
(6 marks)


(HKICPA QP Module A Financial Reporting December 2012 Q3)

Question 3 (10 marks – approximately 18 minutes)
Rider Games Inc. (RGI) acquired a patented technology that expires in 10 years and a licence to use a custom made software for 5 years at consideration of HKD4.5 million and HKD2.4 million respectively on 1 October 2009. Amortisation is calculated on an annual basis over a 5-year estimated useful life for both intangible assets. For tax purposes, the cost of a patent is a non-deductible expenditure and the software licence is fully deductible in the year of acquisition. Tax rate applicable to RGI is 30%.
Required:

(a)
Calculate the temporary differences and deferred tax asset / liability of RGI at the year end date of 30 September 2013.
(6 marks)
(b)
The director of the company asked the financial controller the following question. “If the company can get full tax deduction for the software licence, why don’t we state the whole HKD6.9 million as the cost of acquisition for the software licence in our financial statements? Besides, as software is an intangible item, we can use our own computer and printer to create more agreements and invoices in order to record more acquisitions of software in the financial statements”.
Being the financial controller of RGI, explain to the director his duties and responsibilities in connection with the subject matter and the preparation of the financial statements.

(4 marks)

(HKICPA QP Module A Financial Reporting December 2013 Q2)

Question 4 – HKAS 12

The following statement of financial position relates to Kesare Group, a public limited company at 30 June 2016:
	Assets
	$000

	Non-current assets
	

	Property, plant and equipment
	10,000

	Goodwill
	6,000

	Other intangible assets
	5,000

	Financial assets (cost)
	9,000

	
	30,000

	Current assets
	

	Trade receivables
	7,000

	Other receivables
	4,600

	Cash and cash equivalents
	6,700

	
	18,300

	
	

	Total assets
	48,300

	Equity and liabilities
	

	Equity
	

	Share capital
	9,000

	Other reserves
	4,500

	Retained earnings
	9,130

	Total equity
	22,630

	
	

	Non-current liabilities
	

	Long term borrowings
	10,000

	Deferred tax liability
	3,600

	Employee benefit liability
	4,000

	Total non-current liabilities
	17,600

	
	

	Current liabilities
	

	Current tax liability
	3,070

	Trade and other payables
	5,000

	Total current liabilities
	8,070

	
	

	Total equity and liabilities
	48,300


The following information is relevant to the above statement of financial position:
(i)
The financial assets are classified as “investment in equity investment” but are shown in the above statement of financial position at their cost on 1 July 2015. The market value of the assets is $10.5 million on 30 June 2016. Taxation is payable on the sale of the assets. As followed by HKFRS 9, an irrevocable election was made for changes in fair value to go through other comprehensive income (not classified to profit or loss).

(ii)
The stated interest rate for the long term borrowing is 8 per cent. The loan of $10 million represents a convertible bond which has a liability component of $9.6 million and an equity component of $0.4 million. The bond was issued on 30 June 2016.

(iii)
The defined benefit plan had a rule change on 1 July 2015, giving rise to past service costs of $520,000. The past service costs have not been accounted for.

(iv)
The tax bases of the assets and liabilities are the same as their carrying amounts in the statement of financial position above as at 30 June 2016 except for the following:
	
	
	$000

	(1)
	Property, plant and equipment
	2,400

	
	Trade receivables
	7,500

	
	Other receivables
	5,000

	
	Employee benefits
	5,000


(2)
Other intangible assets were development costs which were all allowed for tax purposes when the cost was incurred in 2015.
(3)
Trade and other payables includes an accrual for compensation to be paid to employees. This amounts to $1 million and is allowed for taxation when paid.
(v)
Goodwill is not allowable for tax purposes in this jurisdiction.

(vi)
Assume taxation is payable at 30%.

Required:

(a)
Discuss the conceptual basis for the recognition of deferred taxation using the temporary difference approach to deferred taxation.
(7 marks)
(b)
Calculate the provision for deferred tax at 30 June 2016 after any necessary adjustments to the financial statements showing how the provision for deferred taxation would be dealt with in the financial statements. (Assume that any adjustments do not affect current tax. Candidates should briefly discuss the adjustments required to calculate the provision for deferred tax).
(18 marks)

Two marks will be awarded for the quality of the discussion of the conceptual basis of deferred taxation in (a).
(25 marks)

(Amended ACCA Corporate Reporting Pilot Q3)
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